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. PART-A (3“ - Yy )
For New Course

Q. No. 1 carries 1 mark each (any four)......oevcvrvvrenn. 1x4 =
Q. No. 2 carries 2 marks each (any five) ........wcnverenrenee 2x5 =10
Q. No. 3 carries 3 marks eacl (a1 £100)....covvererirerivennnc. 3x2 =
Q. No. 4 carries 6 marks eaclt (AnYy 00).....oovveviricevunne. 6x2=12 .
Q. No. 5 carries 8 marks eaclt (AnYy 0N€) ..ocovivevrenvecucrennye 8x1= 8

‘ Total = 40

PART-B (4 - i)

For New Course

Q. No. 6 carries 1 mark each (any four) .........cvveeucees. 1x4= 4
Q. No. 7 carries 2 marks each (any five) .........cccccuveecnnee. 2x5=10
Q. No. 8 carries 3 marks each (any H00) .......ccccvecvecunencncs 3x2= 6
Q. No. 9 carries 6 marks each (any fw0).......ccvveerecucnnee. 6%x2 =12
Q. No. 10 carries 8 marks each (any one) .............ue....... 8x1= 8

Total = 40

PART-C (% - =i)
For Old Course (in liex of Project Works)
Q. No. 11 carries 5 marks each (any four) ........................ 5x4 = 20

Total = 20

Contd.
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PART-A / ?ﬁ.—ﬁl‘(“l‘
1. Answer any four of the following questions : 1x4=4
wHS Wl epsiraiad e sif<orq Ted fu g
(i)  What is intermediate good ?
4] B qieie & gee
(i) If MPS =1, what is the value of MPC?
I® MPS = 1 T, MPC A WX @319 T'32
(i) Primary Deficit = Fiscal Deficit - . (Fill in the blank)
s Qi = seeram @b - | (T 312 979 F9)

(iv) Which one of the following is not a quantitative credit control
measure of the central bank?

TR (P (FH (@D AfRORSE A Fazd smfe wmme

(a) Bank rate

R TR
(b) Open market operation
(IE ISR AT
(c) Variable reserve ratio
AfErTiE Hafrs e Tgaire
(d) Direct control
oroF faE

(v) Write one merit of flexible exchange rate.

“ffsaia [REwn T @by R4 FH

(vi) What is GDP deflator ?
GDP A3 2

2. Answer any five of the following questions : 2x5=10

(i) Differentiate between capital expenditure and revenue expenditure.
TEE] T WE AR FII T AL A

(i) What are the components of high-powered money ?
THFASHT R EAMTE & &2

(i) What are the transactions that are included in the capital account
of balance of payments ?
ﬂ%mwwaﬁwfiﬂﬂ—%ﬁsﬁmmtzmv

(iv) Define personal income and personal disposable income. -
&S TR OF Jfeors JAE SRR A 41
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(v) As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the wvalue of the

multiplier.
fifmcais 125 @& (T 5ol 3faa wero Trsia | 500 &It 5l 3w 23 | woea |
fefa =)

(vi) Distinguish between stock and flow.
TGS WE AT e AT @Yl |
(vii) Write any two implications of revenue deficit.

IreE qo’ [l 7o @or &

3. Answer any two of the following questions : 3%x2=6
oo ol er@RA farreen 7o Ge a8
(i) Write any three limitations of barter system.

R v’ e foRD sejRal Srad w4l |

(i) What is balance of payments deficit ? Write fwo causes of balance
of payments deficit.

#ReNs rer 16 2 2R Fweor afdts 7oy TR Srad |

(iii) Write a short note on :
Autonomous and Induced Investment.

55 O ol ¢
oz iF Sferes [

(iv) What is a government budget? What are the components of
government budget ?

5] TS [F 2 5IFIRN ACHHI SAMIETR [ Fe

4. Answer any two of the following : 6x2=12

o) WIS e ghrq ©ed vl ¢
(i) Discuss the motives of demand for money ? What is liquidity trap ?
5+1=6

YU SIEMR SfSHEsTz SEnal 791 | ORke) @ (52

(ii) Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
Grold S Sl I @ 20! 5P HCEbAl I | ©oid O AYTS IHR

Ve TP TS BAWH sl 41 |

(in Rupees crore)

(=i T=te)
(i) Mixed income of self-employed 400

VSEiCEl. 111@7\': AL PR CRIR
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(in Rupees crore)

(=it =)
(i) Compensation of employeces 500
ol fra =sfeom@d
(ili) Net factor income from abroad (-20)
farma sl czrl Ret o
(iv) Net Indirect Taxes (Feb i@ 3) 100
(v) Consumption of fixed capital 120
[EARGEEs ATk :
(vi) Profits (F9) . .350
(vil) Rent (Arg) 100
(viii) Interest (W) . 150

(iii) Discuss the functions of commercial bank.
e @ I DA 771

(iv) Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :
2+4=6

AW sidw o MET @ AkE@ i) eee T eitmeE of 69
ST WEAEE [97 94 |

Aggregate Consumption Savings Investment Aggregate
Supply Demand
wwle e TorStat AHT Rt AteE wifzm
(AS) (C) (S) (1) (AD)

900 780 40
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 40
5. Answer any one of the following : 8x1=8

O PNARA e «br9 Tel faa ¢
(i)  What is fiscal policy ? Discuss the impact of changes in government

expenditure and changes in taxes on equilibrium income.
' 2+3+3=8

e SCAGA 341 |
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(i) Explain the determination of exchange rate under flexible exchange
rate system.

ARETA [ 2 agre [ifm 2r RdRd ad@ )
(ii) Write short notes on : . 4+4=8
53 (Ol {8
(a) Demonetisation
R
(b) Fiscal Respon'sibility and Budget Management Act, 2003
AP AfTg TF[ oF Ao ~ARBEA =NiEq, 2003

PART-B / 3-5(24

6. Answer any four of the following questions : . 1x4=4

O IRARR farsieat sifebre Bl at ¢

(i) What is underdeveloped economy ?
e SIS e & ge e

(i) In which year World Trade Organisation (WTO) was formed ?
g aifitey sisgl (WTO) (R 57 stoe (2fzai e

(iii) Write the full form of SHG.
SHG 3 377 @t ferai |

(iv) Write one objective of NITI Aayog
" NITI OISR @b Soay fori |

(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(c) milk production

(d) agriculture production (Choose the correct option)
ciHE Rer wite wifest —

(@) T TeAWE (TS

(b) T BeAMAR IS

() W% BeAMAR (O .

(d). FE BeoAMAR CCo (o7 [Res Kot 31)
(vi) Define privatisation.

JiEsTera) A@ |

7. Answer any five of the following questions : 2x5=10
' O HIERA il A5hrq Bel ¢ :
(i) Mention two non-institutional sources of rural credit.

oS WA 757 SRS Be Brmd T |
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(i)  Write two long-term goals of Five Year Plans of India.
wlqea Awafds AfFsaam g5 T o Ha

(iii) Mention two types of unemployment prevalent in the agriculture
scector of India.
Clred ides obfds 72 wwm feegal Sl S 3|

(iv) What is the importance of green revolution in the Indian
agriculture ?
el Fhies ey Rum oay @2

(v) Write two positive effects of LPG policies in the Indian economy.
TlEe Geifee LPG Tife’ 75! @ ises oo &

(vi) Write two merits of globalisation.
(SRR e 75y Rl SrEd T4

(vii) Mention two objectives of disinvestment.

AR o1 S SEm” 9

8. Answer any two of the following questions : 3x2=6
TR MARA [Tl 7ore Oed fral ¢
(i)  Write a note on Industrial Policy Resolution, 1956.

Twifee Tife @, 1956 I [Ra@ «ft G &)

(i) Briefly discuss any one serious environmental problem India is
facing at present time.
rmm*’wrw%mﬁzmﬁﬁ ageq AR TR [REw
BIEF QA T4
(iii) Discuss the composition of India’s foreign trade on the eve of
independence.
FIFTOR ARTET S (@RS AT 16" Raw oncete s
iv) Explain the role and importance of education in human Cap1tal
formation. .
A LA sloe PR i e O oy 399 100
9. Answer any two of the following questions : 6x2=12
e AR frerer go19 TeR A ¢
()  Write a comparative note for India, China and Pakistan on the basis
of
(a) Demographic indicators
() Human development indicators
(@ TA N
(b) T TaEar orena fofde e, ﬁamwmmaﬁsww ,
I 8ES 1|
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(i) Briefly discuss the challenges India is facing in the context of
employment.
e (erFieite SReIdd TR @[ TYETIZ BT S 41 |

(i) What is economic reform ? Explain the need for economic reforms
in India. 1+5=6 .
SRS FAFE 2 SRoIds wfAfss AR A@IGTTS! 941 341 |

(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=6
OIS O AfGEHT Srazem Fwael wE Kwerer R |
10. Answer any one of the following : ' 8x1=8

ol frpicar @b e Oed a3

(i) What do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8
T I=e Iz Ioa [ o2 seade R IwR I Bae IRAE a7 I

AMCFAFIR. DA 1|
(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. 4+4=8
- ITEN SAAE AIREAH! Rexgd 3971 | A9l ITFA TR (SRR A
4 | -

PART-C / -5+
( For Old Course Students in lieu of Project Works)

11. Answer any four of the following questions : 5x4=20
o) fAerear 51961 eid Sl WAl

(i)  Write a critical note on pubhc debt.

5IFIR] WS R @i =S Ol fn

(i) Discuss the sources of demand for foreign currency.
R MR BIRAR STE. SICETHAl I |

(iii) Can GDP be used as an index of country’s welfare ? Justify your
answer.
GDP 3 434 mwmmﬂwaﬁa A 2 COMIT TG/ AATH I
SR |

(iv) What is human capital ? Discuss the sources of human capital.
TR oA 32 TFE TR 1R SR TG 34 |

(v) Briefly write about India as a knowledge economy.
@ weEE 2ei sivesds e stz Hal

" (vi) Discuss the circular flow of national income in a simple economy.

@ T SIS WRE A 2[R WGl 41 | '

X
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